St RN ¥ S

AT MEFR - TERT - AT
BE Bl

ABRAAA LA EE  FRNEY o B BH R

1. {20 points) Eric receives utility from days spent traveling on vacation domestically (D)
and days spent traveling in a foreign country (F) as given by the utility U(D, F) = DF.
The price of a day spent traveling domestically is $160 and in a foreign country $200.
Eric’s annual budget for traveling is $8,000. '

(a) (J points) Find Eric’s utility maximizing choice of days traveling domestically and
in a foreign country. Find also his utility level from consuming that bundle.

(b) (5 points) Suppose that the price of domestic traveling increases to $250 per day.
Calling his budget for traveling X, (suppose by now that it is unknown) find the
demand for D and F under the new prices as a function of x.

(c) {4 points) Find the income necessary to make Eric reach the same utility level as
before the price change,

(d) (6 points) Compute the quantities demanded with the new prices and the income
you found in section ¢, Compute also the quantities demanded with the new prices
and the original income. Using your answers tell us what is the total change in
quantity of D due to the price increase in Pp that the consumer experiences and
what part of that change is due to income or substitution effects.

2. (15 points) Molly’s company produces knee warmers according to the following
14 14
production function: q=(K-8) L
(a) (5 points) Assuming that the unit cost of capital (r) and the unit wage (w) are
both equal to 1, derive Molly’s demand for inputs—capital and labor,
respectively—as a function of her choice of output'(q):
(b) (2 points) Show that Molly’s long run total cost function is given by

C(@)=8+ 2q2.
The demand for knee warmers is given by P =40 - Qd. There are no costs of entry or
exit for a firm on the market for knee warmers. Any firm in this market will have
access to the same technology -as Molly:
() (3 points) What will the price be in the long run in this market? How much will
each firm produce in this market in the long run.
(d) (3 points) How many firms will there be in this market in the long run?
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3. (15 points) Suppose that Intel has a monopoly in the market for computer chips. In

2
order to produce X computer chips, it costs Intel C(X) = 2X .

(a) (2 points) Find the marginal cost of producing a computer chip for Intel.

(b) (5 points) The demand for computer chips is X = 12 —0.25 P (ie. P =48 —4X).
Find the level of output that maximizes Intel’s profits. What price is Intel
charging?

(c) (3 points) What level of output would maximize total surplus in the computer chip

market?

(d) (3 points) If the government subsidized Intel s for every unit of computer chips
produced, what quantity would Intel choose as a function of s? Find the choice of
subsidy that maximizes total surplus, i.e,, induces Intel to produce the efficient
quantity from part (c).

(B4R RET—R)
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4. (18 points) In a far away country, the total population is 1000 people (all of them
are non institutional civilian people), 564 are working and 36 are looking for a job.

Assume that firms produce goods using labor as the only factor of production. The
production function is written as follows:

Y=2*N
where Y is output, and N is employment.
The wage setting process is described by
W =P *(Z-200*u)

where W is the nominal wage, P° is expected price level, Z is the unemployment
insurance provided by the govemment , and u is the unemployment rate.

Firms set their price according to
=L,

where P is the price level, and g isthe markup of the price over the cost. In this
economy, the markup level is assumed to be 1 (i.e. 2z =1).

(2) (9 points) For P° = P, what is the natural unemployment rate and the natural
level of output, if Z=10?

(b) (9 points) The government is running a fiscal surplus and they are debating
whether to increase the unemployment benefits. If the government increases the
unemployment benefit such that Z is increased from 10 to 13, what will be the
new natural unemployment rate and the new natural level of output?
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5. (32 paints) Consider two open economies, Bedostan and the Republic of
Deballeria. Assume that these countries only trade with each other. Variables with
subscript B and variables with subscript b correspond to Bedostan and the Republic
of Deballeria, respectively. The two economies are characterized by the following
set of equations:

¢ =c, T, *X-1)

I =1
G, =G
L=4,*Y

IM, =im, +im, *Y,

e=1
where C is consumption; Y is inc(;me; T répresenfs taxes; I is‘investment; G
is government spending; IM is imports; and & isreal exchange i-ate, the
price of Deballeria goods in terms of Bedostan goods;

i =B or p(s for Bedostan and o for Deballeria); and ¢, ¢, I, Gi, t,

imy,, im, are constant.

Let: ¢,; =cop =200, ¢ =c,p =05, 1=250, G, =114, G, =120,

ty =t, =04, imy =imy,, =40, imy; =005, im, =03, =1
(a) (8 points) Calculate the equilibrium levels of output in the two countries.
(b) 8 points) Calculate the trade balance for each country.
(c) (8 points) Suppose the government of Bedostan wants to increase government
spending by 147. What will be the new equilibrium output levels in the two
economies?

(d)(4 points) Assume that exports are exogenously given. What is the open economy
multiplier in Bedostan?

(e)(4 paints) Suppose the two economies decide to close (ie. no trade with each
other). What is the multiplier in Bedostan now, assuming all the other figures
remained the same?
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1. Adiscrete random variable X has the probability function
Px)=k(1/2)* x=1,2,3
What is the value of &k ?

i 1 8 4 7
(A) 2 (B) 1 ©) 7 D) 3 E) Y

2. A joint probability density function of Y and Y; is

6(1-y,), 0y <y, <1
SOy ={ Y2k 05212,
0, elsewhere
Find Cov(1,,1,).
(A)0.25 (B) 0.50 (C) 0.15 (D)0.125 (E) 0.025

3. The lifetime (in hours) Y of an electronic component is a random variable with density function

given by
_1_ e—ylloo
S =1 100 , ¥>0
0, elsewhere

Three of these components operate independently in a piece of equipment. The equipment fails
if at least two of the components fail. What is the probability that the equipment will operate?
(A) 0.050 (B)0.135 (C) 0.250 (D) 0.571 (E) 0.905

4. One out of three mini-vans sold by a nationwide auto dealer has a hidden defect in its
transmission, What is the probability that a randomly selected purchaser of two mini-vans will
wind up with at least one mini-van with a defective transmission?

(A) 0333 ®B)0.5 (C) 0.667 (D) 0.250 (E) 0.556

5. An experienced person has an 80% probability of getting a particular job. An inexperienced
person has a 50% chance of getting the same job. 60% of the applicants are inexperienced. If the
job is offered to a person, what is the probability that the person was inexperienced?

(A) 0.4 (B) 0.6 (©)03 (D) 0.4839  (E) 0.6667

6. The owner of a 100-room hotel has discovered that his reservations team has booked 110
reservations for an upcoming weekend. Experience has shown that 10% of reservations are “no
shows.” How likely is this hotel to'be overbooked (i.e., have more guests arrive than there are
rooms available) for this particular weekend? . )

(A)0.1 (B)0.3156 (C)0.3 (D)0.4839 (E)0.9
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7. There are two stocks: A and B. The price of each stock is normally distributed. Stock A-has a
mean of $20 and a standard deviation of $4. Stock B has a mean of $25, and the standard ~ '
deviation is $8. What is the probability that the total price for buying two stocks will exceed
$60? - '

(A) 0.4535 (B) 04332 (C) 04247 (D) 0.0753  (E) 0.0465

8. A particular product is shipped in lots of 20, At the receiving department, an inspector samples 5
items from each lot and rejects the lot if more than 1 defective is observed. If a lot contains 4
defectives, what is the probability that it will be rejected?

(A) 0.2817 (B) 0.2487  (C) 0.4696 (D) 0.632 (E) 0.8030

9. The number of industrial accidents at a particular manufacturing plant is found to average three
per month. What is the probability that six accidents occurred?
(A) 0.0504 (B) 0.0899 (C)0.1033 (D)0.3192 (E)0.8667

10. In a gambling game a man is paid $5 if he gets all heads or all tails when three fair coins are
tossed and he pays out $3 if either one or two heads show. What is his expected gain?

(A)-2 B)-1 o D)1 ®2
(2) FHEE:

| EHAOEIRFFRIB—RER 5% WA BIRERFITHE L - 5P 50 RERPH 7 1R
Z3H 45 BEEm i 7 EARM
(2) B ~ ZFEEMRHRETHEFE? (5%)
(b) HILREFEESEDBIEE « ZEMaaHMERATE  AHE - ZRaaEERNELGHE
REHE? (10%)
(c) AKHIERISBEREE MM EZE R 98%EHEH - (5%)

2. FEATKEE 10 (iR BT AS/NRESERIIFA B y SCHLRRERIERRAT x ZFRA0T ¢

i ] 85 ] 97 | 94 | 2 [ o1 ] 81 | 77 ] 76 | 75 | 7
Blky | 25 | 49 | 32 | 26 | 27 | 22 | 23 | 19 | 17 | 15

() HILEHH y SEneHlEREGt x BB © yi=8o+ Bixi & » FEREN
FFHEAGFTBo » BiZfH - (10%)

(b) 3K x > y BUFHBH{RIK - (10%)

() FUHGEERSAREITER - FRC IR EAR T GH(a=5%) ? (10%)
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TABLEN (conl) - -
Areas under the Second decimal place in z

standard normal curve

z 000 00! 002 003 004 005 006 007 L0008 009

0.0 05000 05040 05080 05120 0.5160 05199 05239 05279 05319 05359
o1 05398 05438 05478 05517 0.5557 0.5596 0.5636 0.5675 0.5714 0.5753
0.2 05793 05832 05871 05910 0.5948 05987 0.6026 0.6064 06103 0.6141
03 0.6179 0.6217 0.6255 0.6293 0.6331 0.6368 0.6406 0.6443 0.6480 0.6517
04 0.6554 0.6591 0.6628 0.6664 0.6700 0.6736 0.6772 0.6808 0.6344 0.6879

05 0.6915 0.6950 0.6985 0.7019 0.7054 0.7088 0.7123 0.7157 07190 0.7224
0.6 0.7257 0.7291 07324 07357 07389 0.7422 07454 0.7486 0,7517 07549
0.7 | 03580 07611 07642 07673 07704 0.7734 07764 0.7794 0,7823 0.7852
0.8 0.7881 0.7910 07939 0.7967 0.7995 0.8023 0.8051 0.8078 08106 0.8133
0.9 0.8159 0.8186 0.5212 0.8238 0.8264 0.8289 0.8315 0.8340 08365 0.8389

Lo 0.8413 0.8438 0.8461 0.8485 0.8508 0.8531 0.8554 0.8577 0.8599 0.6621
11 0.8643 0.83665 0.8686 0.8708 0.8729 0.8749 0.8770 0.8790 0.5810 0.8830
12 0.3849 0.8869 0.8888 0.8907 0.8925 0.8944 0.8962 0.8980 0,3997 09015
1.3 09032 09049 09066 0.9082 03039 09115 09131 09147 0.9162 09177
L4 0.9192 09207 09222 09236 09251 09265 0.9279 09292 09306 09319

L5 09332 09345 09357 09370 0.9382 0.9394 09406 094183 09429 09441
le 0.9452 09463 09474 0.9484 0.9495 0.9505 09515 09525 09535 0.9545
L7 | 09554 09564 09573 09582 0.9591 09599 09608 0.9616 09625 0.9633
1.8 | 09641 09649 09656 0.9664 0.9671 0.9678 0.9686 0.9693 0.9699 0.9706
19 09713 09719 09726 09732 09738 09744 09750 0.9756 09761 0.9767

2.0 0.9772 09778 095783 09788 09793 095798 09803 09808 0.9812 0.9817
2.1 0.9821 09326 09830 09834 09838 0.9842 09846 09850 09854 0.9857
2.2 0.9861 09864 0.9868 0.9871 0.9875 09878 0.9881 0.9884 09887 0.98%0
23 09893 09896 09898 0.9%01 09904 0.9906 0.9%0% 09911 0.9913 09916
24 09918 09920 0.9922 0.9925 0.9927 05929 09931 0.9932 0.9934 0.9936

25 0.9938 09940 09941 0.9943 09945 09946 0.9948 0.9949 09951 0.9952
26 0.9953 09955 09956 0.9957 0.9959 0.9960 0,9961 09962 0.9963 0.9964
27 | 0.9965 09966 0.9967 0.9968 0.9969 09970 09971 0.9972 0.9973 0.9974
2.8 09974 09975 09976 0.9977 09977 09978 09979 0.9979 0.9930 0.9981
2.9 0.9981 09982 09982 0.9983 0.9984 09984 09985 0.9985 0.9986 0.9986

3o 0.9987 09987 0.9987 09988 0.9988 09939 09989 0.9989 09990 0.9950
EN 0.99%0 0.9991 09991 05991 09992 0.9992 09992 0.9992 09593 0.9993
3.2 0.9993 09993 0.9954 09994 0.9994 09994 0.9994 0.9995 0.9995 09995
3.3 0.9995 09995 09995 0.9996 0.9996 0.9996¢ 09996 0.9996 0.9996 0.9997
34 0.9997 0.9957 0.9997 0.9997 09997 09997 0.9997 0.9997 0.9597 0.9998

3.5 09998 09998 0.9998 0.9998 0.9998 09998 05998 0.9998 0.9998 0.9998
3.6 0.9998 09998 0.995% 0.9999 0.9999 09999 09999 0.9999 0.9999 09999
37 09999 09999 0.9999 0.9%39 0.9999 0.999% 0.999% 0.9999 09995 0.9999
38 0.9999 09999 05999 09999 09935 0.9999 09999 0.99%9 0.999% 0.9599
39 1.0000t

1 For z = 3.90, the areas arc 10000 to four decimal places.
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TABLE IV
Values of 1, df tasa  loos Loozs to.ol tocos df
1 3078 6314 12,706  31.821 63.657 1
2 1.886 2,920 4.303 6.965 9.925 2
@ 3 1.638 2353 3.182 4.541 5.841 3
s . 4 1.533 2,132 2.776 3,747 4.604 4
5 * 1476 2015 2.571 3.365 4.032 5
6 1.440 1.943 2.447 3,143 3,707 [
7 1.415 1.895 2365 2.998 3.499 7
8 1 .397‘ 1.860 2.306 2.896 3,355 8
9 1,383 1.833 2262 2.821 3.250 9
10 1.372 1.812 2228 2.764 3.169 10
H 1363 1.796 2.201 2.718 3.106 1
12 1.356 1.782 2.179 2.681 3.055 2
13 1.350 1.771 2.160 2.650 3.012 13
4 1.345 1.761 2.145 2.624 2977 i1
15 1.341 1.753 2,131 2.602 2.947 15
16 1.337 1.746 2.120 2.583 2921 16
17 1.333 1.740 2110 2.567 2.898 17
18 1,330 1.734 2.101 2.552 2,878 18
19 1.328 1.729 2,093 2.539 2.861 19
20 1.325 1.725 2,086 2.528 2,845 20
2! 1.323 1.721 2.080 2.518 2,831 21
22 1.321 1.717 2074 2.508 2.819 22
23 1.319 1.714 2.069 2.500 2.807 23
- 24 1.318 1.711 2.064 2492 2.797 24
v 25 1.316 1.708 2.060 2.485 2.787 25
26 1.315 1.706 2.056 2479 2779 26
27 1.314 1.703 2.052 2.473 27171 27
28 1.313 1.701 2.048 2467 2.163 28
29 1.311 1.699 2.045 2.462 2156 29
30 1310 1.697 2042 2457 2.750 30
31 1.309 1.696 2.040 2,453 2,744 3!
32 1.309 1.694 2037 2.449 2738 32
33 1.308 1.692 2.035 2445 2,733 33
34 1.307 1.691 2.032 2,441 2,728 34
35 1.306 1.690 2.030 2,438 2,724 35
36 1.306 1.688 2.028 2.434 2,719 o
37 1.305 1.687 2.026 2.431 2.715 37
38 1,304 1.686 2.024 2429 2,712 38
39 1.304 1.685 2.023 2.426 2,708 39
40 1.303 1.684 2.021 2423 2,704 40
41 1.303 1.683 2.020 2421 2,701 41
42 1.302 1.682 2018 2.418 2.698 42
43 1.302 1.681 2.017 2416 2.695 43
44 1.301 1.680 2015 2414 2.692 44
45 1.301 1.679 2.014 2.412 2.690 45
46 1300 1.679 2013 2410 2.687 46
47 1.300 1.678 2.012 2,408 2.685 47
48 1.299 1.677 2011 2407 2.682 48
49 1299 1.677 2.010 2405 2.580 49
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TABLE VIl dfn
Values of Fy
dfd o 1 2 3 4 5 6 7 8 9
0.10 30.86 4950 5359 5583 5724 5820 5891 5944 59.86
a 0.05 16145 199.50 21571 224.58 230.16 233.99 236.77 238,88 240.54
1 0025 647.79 799.50 B64.16 899.58 921.85 937.11 948.22 956.66 963.28
F, 0.01 40522 4999.5 54034 5624.6 5763.6 5859.0 5928.4 5981.1 6022.5
0.003 16211 20000 21615 22500 23056 23437 23715 23925 24091
0.10 853 900 916 924 929 933 935 937 938
0.05 18.51 1900 1916 1925 1930 1933 1935 1937 1938
2 0025 38.51 3900 397 3925 3930 39.33 3936 3937 39.39
0.01 08.50 99,00 99.17 99.25 9930 99.33 9936 9937 99.39
0.005 198,50 199.00 199.17 199.25 19930 199.33 199.36 199.37 199.39
0.10 554 546 539 53 531 528 527 525 524
. 0.05 10.13 955 923 912 9401 894 889 3885 8.8l
3 0.025 1744 1604 1544 1510 1488 1473 14.62 1454 1447
0.0!1 3412 30.82 2946 2871 2824 2791 27.67 2749 2735
0.005 55.55 4980 4747 4619 4539 4484 4443 4413 4388
0.10 454 432 419 4.1 405 401 398 3195 394
0.05 771 694 659 639 626 616 609 604 600
4 0025 1222 1065 998 960 936 920 907 898 890
0.0l 2120 1800 1669 1598 1552 1521 1498 1480 14.66
0.005 3133 2628 2426 2315 2246 2197 2162 2135 2114
0.10 406 378 362 352 345 340 337 334 33
005 661 579 541 519 505 495 488 482 477
5 0025 1001 843 776 739 715 698 0685 676 6.63
0.01 1626 1327 1206 1139 1097 1067 1046 1029 10.16
0.005 2278 1831 1653 1556 1494 1451 1420 1396 13.77
0.10 378 346 329 318 3ll 305 301 298 296
0.05 599 514 476 453 439 428 4.2] 4.15 410
6 0.025 8.81 726 660 623 599 582 57 560 552
0.0} 1375 1092 978 9.15 8.75 847 826 810 798
0.005 18.63 1454 1292 12,03 1146 1107 1079 1057 1039
o.10 359 326 307 296 283 2383 278 275 272
0.05 559 474 435 412 397 337 319 373 168
7 0.025 807 654 589 552 529 5102 499 490 482
0.0! 1225 955 845 785 746 719 699 684 67
0.005 1624 1240 1088 1005 952 916 839 868 851
0.10 346 311 292 281 273 267 262 259 256
0.05 532 446 407 384 369 358 350 344 339
8 0.025 757 606 542 505 482 465 453 443 436
0.01 11.26 865 759 7.01 663 0637 618 603 591
0.005 1469 1104 960 881 830 795 769 750 734
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I.1 Given a Linear Programming problem in its standard form, please state how to use the
simplex method to detect the following properties for the LP:
(a) infeasibility (5%)
(b) unboundedness (5%)

1.2 Given the following Integer Linear Programming problem:

min x, +x,

st 0.3 +0.1x, +x, =2.7
0.5x,+0.5x,+x, =6
0.6x; +0.4x, —x;, +x,=6

+
Xpy Xyy X35 Xgy X5y X € 27O {0}

The branch and bound technique is applied to solve this problem.

(a) Suppose the Simplex Method is used to solve the LP relaxation of above problem.
What is the optimal solution and optimal value of the LP relaxation? (Please take x3,
x4 and xg as initial basic variables to execute the simplex method by selecting the
entering variable with the most negative coefficient.) (10%) ,

(b) Does this LP relaxation problem have multiple optimal solutions according to your
solution in (a)? If your answer is “Yes”, what are the other basic feasible solutions?
(5%)

(c) What are the branching variable and the bound according to your answer in (a)?
And what ‘are the corresponding additional constraints to be added into the problem
in this branching step? (5%)

I.3 Suppose you 'are using Hungarian Method to solve an Assignment problem. The
following table shows the final reduced cost matrix and the required line to cover the
zeros. What is the optimal assignment according to the matrix and line obtained below?
(Please indicate your assignment sequence. For example, suppose you assign P5 to J5
first then assign P1 to J1, your answer, in such case, should looks like P5-J5, P1-J1)

(5%)

J. J2 )3 J4 )5
Pl |-0-—0~—=0— M —-1-
P2 [-6--0--0——4—- 0~
P3 H0—7--0- -10—6-
P4 |-0—-0—A——0—"1"
P5 |-8--6—-0—"-1—-0
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I4 Let G = (N, 4) be an undirected graph, with node set N ={1, 2, 3, 4, 5, 6, 7, 8, 9},
arc set 4 = {(1,2), (1,3), (1,4), (2,3), (2,5), (3,4), (3,5), (3,6), (3,7, (3,9), (4,D), (5,9),
6,7), (6,8), (6,9), (8,9)}, and arc length {(1,2) =5, (1,3) =7, (1,4) =6, (2,3) = 2,
2,9=4,34)=1,3,5=4,3,60=3,3,D=8,3,9=9,4,7=2,(59= 6,(6,7) =4,
(6,8) = 6, (6,9) = 5, (8,9) =2}. Suppose we would like to find the shortest-path from
node 1 to node 9.

(a) What is the condition of a given network that the Dijkstra’s algorithm can be
applied to find the shortest-path? (5%)

(b) What is the (permanent) node labeling sequence in the Dijkstra’s algorithm for
finding the shortest-path from node 1 to node 97 (10%)

N HBEE+T)

II.1 Consider a service station with one server with 2 service modes, the slower mode and
the faster mode. The arrival process is a Poisson process with rate 1 and the service
time of the slower mode is exponential with rate 1 and the service time of the faster
mode is exponential with rate 2. Whenever number of jobs in the system is less than or
equal to two, the server processes job in slower mode, otherwise, it operates in faster
mode.

(a) Draw the transition rate diagram? (10%)
(b) Find the steady state distribution by solving the balance equations. (20%)

II.2 Consider an M/M/1 queue with an unreliable server (machine). The state of the
machine alternates between up and down irrespective of whether it is idle or is busy
processing jobs. The up time of the machine is exponential with rate ¢. When the
machine fails, it is repaired immediately (repair time is exponential with rate §8), and it
returns to service as soon as the repair is completed. The arrival process is a Poisson
process with rate A and service time is exponential with rate £ . The machine
processes job whenever there are jobs in the system and it is up. Define the state and
draw the transition rate diagram (20%).
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1. (25%)The old forecast is 200 units, =0.2, and actual demand for the last month is 230 units. If the seasonal
index for the last month is 1.1, and the next month is 0.8, calculate:
a. The deseasonalized actual demand for the last month. (8%)
b. The deseasonalized forecast for the next month using exponential smoothing.(8%)

¢. The forecast of actual demand for the next month. (9%)

2, (25%) A store has collected the following information on one of its producis:
Demand = 5,000 units/year
Standard deviation of weekly demand = 10 units
Ordering costs = $50/order
Holding costs = $2/unit/year
Cycle-service level = 90% (z for 90% = 1.28)
Lead-time = 2 weeks
Number of weeks per year = 52 weeks

a. If a firm uses the continuous review system to control the inventory, what would be the order quantity and
reorder point? (12%)

b. The firm decided to change to the periodic review system to control the item’s inventory. For the most
recent review, an inventory clerk checked the inventory of this item and found 200 units. There were no
scheduled receipts or backorders at the time. How many units should be ordered? (13%)

3. (10%) $t¥F 7| EMIE42M8  F S B2 T 5 tk(critical ratio} K A3 84 » L RE A A F FH2 x4k
Bt .

4 18 4 20
6 24 8 12
5 14 2 20

Iy
b-‘ii\Jb—-_n.’_

TEXBER] (2R | x4f | fFXERRE [ 248
. 4 .

5

6

4, (10%) A —RXETR2B M FPREENEERARELHMSESOX  RIELTHHA:
A  FUEEANELRECPMELSE AIRMELS0RRTIZRBLEMT? (5%)
b, EIEEFRE S R4 (PERT) A K43 » AR RS0 RE T ZMB BT 7 (5%)

5. (I5%)IIT #4RiRHE - P TEZ LB BT HREIMEATI AL E2BRRH X5 7 FHE
A RIS b IR 2Z, -

6. (5%) % » {737 available to promise (ATP) ?

7. (10%) EHEMBEY » H#RZALT S push & pull » F4 304 AR THRAMNTHE SiFiE 2
E.n% ' iﬁ%ﬁ]:ﬁaﬁz °
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1. Express the 3.19 as a fraction (5-4¢).
2. A driver sets out on a journey. For the first half of the distance she drives at the speed of 60 mi/h;
and at 40 mi/h for the second half of the distance. What is her average speed on this trip?

3. Solve the equality: |x+1|—|x—5|=3.

4.If f(x)= x*and Lo (X)) = fo(f,(x)) for n=12,3,.-+. Please find a formula for f, (x).
5. Find a number & such that |J4x+ —3| <04 when [x~2<4d.

6. For the equation x? +xy+ y* =3, please find the tangent line at the point (1, 1).

7. Use the linear approximation of the function f(x)=3%8+x atx =0 to approximate the number
V6.91. A2/ #3500 T 5 wadx)

8. Use Newton's method to find the root of the equation x*~20=0 to x3 with the initial solution
X1—=1.

9. Find the point on the line y =2x +3 that is closest to the origin.

10, Find the limit lim—2—.
S In(2 +3¢%)

1
11. Find the limit lim (3n+¢")"

n—®

12. Determine whether the series i In(—

3 2) + (_3;) is convergent or divergent. Ifit is
n=1 n+ 5

convergent, find its sum.
e* —1
13, Evaluate J—de as an infinite series.
x

14, Find j”’ 2 1 e

7131 +2sinx—cosx

15. Find J%;—Ddx
X

16. Find the area of the region bounded by the given curves y =sinx, y = ¢*, x = 0 and x = 7/2,

17.Let f(x)= J':e' cos 2t dt . Find the maximum value of f{x) at0=<x=m.

18. Solve the differential equation that satisfies the given initial condition.

dy 2

—=y+x“sinx, z)=0
xdxyxsx W)

19. Evaluate He}' x+e¥dd4> where R={0<x<4,0<y<l}-
R
1ln x

oT;d”'
(20 56 - 4578 5 5))

20. Find J'
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1. {EHd2Eey (mission) ? fIFRMSERRRT (vision) ?
2. {5 SWOT 43477 ?

3. BER2HA Michael Porter :ZFHJIZMTEAT ?

4. {AlEZ=S L5EES (differentiation strategy) ?

5. fIEEMAEREECARA ? HEl— RSB TE ?

6. fAIFHMEETIERE (business process reeng}ﬂeering) ?
7. (FHERRCERER (goal setting theory) ?

8. fAIEHATEER (equity theory) ?

9. FARIEAZEFESh (Fred E. Fielder) Z{HEniiitsst -

10. fATEEE SUREER 7 (BT AR ?

= - EEIRYPO{ETHEE R (planning) » #HER (organizing) - #HaE (leading) -

Fe4%1 (controlling ) » BALUERITTARRA » RRBAREANARE FE I AT
BRI T » 30 BRI S RIS T B(E% - (20 53)






